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Code :

false.

true.

1. Statement I :

Statement IT :

2. Statement I :

Statement II :
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‘Directions ; The fofloi;ing six (B) items consist of
two statements, Statement I and Statement II.
You are to examine these {wo stalements
carefully and select the answers to these items
using the code given below :

(a) Both the statements are individually
true and Statement Il is the correct
explanation of Statement I.

(b) Both the statements are individually
true, but Statement II is rot the correct

explanation of Statement .

(c) Statement I is true, but Statement II is

(d) Statement I is false, but Statement 1II is

If -the Marginal Cost (MC)

curve is a horizontal straight
line, the equilibrium of a firm
under perfect competition
remains indeterminate.

Marginal  Revenue
always remains above the MC
curve.

curve

All inferior goods are Giffen
goods.

An increase in income results
in a lower demand for an
inferior good.

({2-A)

Statement I :

Statement 1I :

Statement I :

Statement II :

cause appreciation

Statement I ;

Statement II :

Statement I ;.

Statement II :

Total Cost first

concave and then convex from

curve 1is.
below.

Law of , variable proportion

operates in production.

Foreign investment may affect
a country’s export performance

adversely.

Inflow of foreign exchange may
of local
currency leading to rise in the

price of export commeodities.

In case of liquidity trap,

liquidity  preference curve

becomes horizontal at a very

_ low level of interest rate.

Liquidity preference curve
shows a negative relationship
between demand for money

and interest rate.

Infant industry érgument is
advocated in support of
protectionism in international

trade.

Infant industries require time
to undergo the process of
learning-by-deing to become

competitive in the long run.
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Directions : The next three (3) items are based on
the following production possibilities data for India
and Bangladesh. All date are in tons :

Production possibilities for India

A B C D E
120 90 60 30 0
Pots 0 30 60 90 120

Tea

Production possibilities for Bangladesh
A B C D E
Tea 40 30 20 10 0
Pots 0 30 60 90 120

7. Which one of the following is most guitable ?

(a} India should export tea to Bangladesh,
but it will not be profitable for the two
nations to exchange pots.

India should export tea to Bangladesh
and Bangladesh should export pots to
India.

(¢) Bangladesh should export tea to India

{b)

and India should export pots to
Bangladesh.

(d) India should export both tea and pots to
Bangladesh.

R. Which one among the following are the limits

of the terms of trade between India and
Bangladesh ?

(a) 1tea =1 potto1tea =3 pots

{b) 1 tea = 2 pots to 1 tea = 3-5 pots

(c) 1tea =3 potsto 1tea =6 pots

(d) 1tea =2 pots to 1 tea = 6 pots

9. Assume that, prior to specialisation and trade,
India and Bangladesh both chose production
possibility ‘C’. Now if each specializes
according to comparative advantage, the
resulting gains from specialization and trade

will be

(a) 10 tons of tea and 30 tons of pots
(b} 40 tons of tea

(¢} 20 tons of tea

{d) 20 tons of tea and 20 tons of pots

L]
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10.

11.

12,

13.

{4 - A}

In the long runm, the cost and output
relationship-depends on '

(a) returns to scale.

(b} fixed proportion of the variables.

(c) returns to the variable factor.

(d) returns to the fixed factor. -~

The accelerator model predicts that the -
changes in investment are determined by the
changes in

(a) Output
(b) Interest
(c) Capital
(d) Inventory

A Laffer Curve indicates

(a) the relationship between money supply
and price level in different stages of
inflation.

(b) that above a certain tax rate, an

increase in tax rate causes reduction in
tax revenue.

(e} a positive relationship between tax
revenue and public expenditure.

(d) a negative relationship between high
rates of income tax and amount of

evasion of tax.

Dutch disease implies

(a} the appreciation of a nation’s currency
resulting from the exploitation of a
domestic resource that was previously
imported, and the resulting loss of
international competitiveness in the

nation’s traditional sector.

(b) the depreciation of a nation’s currency
resulting from the exploitation of a
domestic resource that was previously
exported, and the resulting loss of
international competitiveness in the

nation’s external sector.

(c} a fall in the valuation of Dutch currency.

(d) a fall in the valuation of Dutch currency
and its resultant adverse impact on

other nations’ currencies.




N-DTQ-K-GEQ

B : &7 (3) FOHIT YRd d §ueee &

FrafefRad Feqre GRIaEE) & Hidg! W ITERT
graftapg e 74 7 -

HRd P Y 3eqes TrEe

A B | C D E
am | 120 | 90 | 60 | 30 | 0O
o= o | 30 | 60 | 90 | 120

TRy & o s e

Al B | ¢c| D | E
T a0 | 30 | 20 | 10 | 0
CE| o | 30 | 60 | 90 | 120

Frefofaa % @ B vF Jaifte 39g € 2
(a) 9RG @ STERY B TE & M| o
wifze, AT ot & fafma o 2 g
& foe emERs T8 B

YR & FUARY B A B A Bl
Tfer 3R aTeRY & wRa B E & FaE
& Tfee |

() STERY @ ¥R & Ta & Faa wen
Ifer 3k 9Rd & Senew ® e @ Fafa
FA I |

YRd B 99 T4 U 2 & Al dnameer
B BT T |

freferfaa o & S ve, YRa v AR & Hel
amaTa-frafa Rafa & S & saenar & 2

() 19U =193 J 10T =3uF

(b) 19 =293 ¥ 1qG =359

(¢) 190 =39 F 19T =69

(d) 199=2UFJ1TT=69=

oM ehifse, fGRTEoxoT td &R ¥ Ugd, 9Rd g
ST At I FEE ‘C° P A &G | |
39 fE geEres o & HIOR R s Ao
AT & & fAReRu @ =R & uiRomd e Fn
g P

(a) -10 T O @1 30 e U=

(b)

(d)

(b) 40cH T
{c) 200 T
(d) 20 cq I a= 20 9 IR !

10.

11,

12.

13.

" (b)
. (@) TR JUEF & e

(a)

e § e @ I & wEn e ) faR

TOE?
(a) Ynm & wfees
i &1 fraa s

(@) Froe oM & wfowa

e e & TRG ¥ IER PR & Red
Prafifaa 4 ¥ fous RedHl gxr Fuffa 2R
g2

(a) JERA |
(b) &S

(¢} N

(d) HE

AR T fowe deas ¢ ?

iy B fafir arawemslt # qar ofd oo da
TR & RO FEE

b) L P B FRTT R X I IR, WA
gfe % oro R g § o B @

(¢) TR T IR UHa—ed A9 & A UFREE
T &

I TR B Jeg &R AR I da9 B 9D
A THRIHADS TG+ B

(d)

SAAM B AR T E ? .

() We wareH &, ¥ B e smfia fEm
ST T, 39N & aReTHRawy T, B gH B
g, U g R e A
IR wferauforsa # aRomt &3

W wweE &, T s Frofa foa s
o, I &% uRUIMEET WG D OGH DT

TRIgN, T g & g & e ¥ iRy
yfrgeioadmar § qRom) s

(b}

(¢) U @ & graidA # dH
0 W@ b g § e a3
qRoTTeERY 3 g @ el W owfigE

U4

{d)




14. Which among the following were the causes of
decay of Indian handicrafts during the British
rule ?

1. Disappearance of Princely Courts

2. Hostile policy of the East India
Company '

3. Competition from machine made goods

4. Growth of Joint Hindu Family business

Select the correct answer using the code

given below :

(a) 1 and 2 only

(b} 1,2and 3

(¢) 1and 3only

(d) 2,3 and4

15. Which one among the following is the most
appropriate definition of a less-developed
nation ?

(a) A country with a small agricultural
sector, low rate of population growth and
low per capita GNP.

(b) -A country with a high population growth
rate, a high per capita GNP growth rate

~ and an unequal distribution of income.

(¢} A country with inadequate health care,
poor educational facilities and low per
capita GNP,

(d) A country with low per capita GNP, a
ldrge population and a small agricultural
sector. '

N-DTQ-K-GEQ

16,

17.

18.

(6 - A)

Which one among the following is not part of
the stimulus packages awarded by the
Government of India in the year 2008 — 09. to
help export sector in general and some sectors
affected or likely to be affected by the global
recession in particular ?

(a) Inclusion of handicrafts items in
Vishesh Krishi and Gram Udyog Yojana

(b} Constitution of a high level committee
for fast track resolution of a number of
procedural issues to reduce delays for
the exporters

() Reduction of excise duty across the
board by 4 per cent for all products
including petroleum products

(d) Extension of export obligation period
against advance authorization up to

36 months without payment of
composition fee

If you take the arithmetic mean of the
Laspeyres’ and Paasches price indices, you
shall get

(a} Drobish-Bowley Price Index

(b) Marshall-Edgeworth Price Index
(¢) Walsch Price Index

(d) Fisher’s Price Index

Consider the fol]owmg statements about trade
finance :

1. Trade financing has been used in more
than 90 per cent of trade transactions
(mostly short-term credit) in the world.

2. The recent global financial crisis has
impaired the access to trade finance.

3.  Developed economies are most
vulnerable to the shortage in trade
finance.

Which of the statements given above is/are
correct 7

(a) 1 only

(b) 1 and 2 only
(¢) 2 and 3 only
{(d}) 1,2and 3




14,

15.

N-DTG-K-GEQ

R v 3 W TR B e & PR
Y { pFY ROT Y ?

1. ¥Rda Raradl & =yawed @ i
2. §% sivsar o o wige 9y
3. wﬁqéﬁaa—@ﬁﬁmﬁm

4. g fog wRer =Ewm A wofx
%ﬁeﬂv@zaﬁﬂaﬂﬂé‘rmgﬁu:
(a) ®am 13K 2 ‘

) 1,23k 3

(c) &ad 13K 3

d) 2,33ka4

FrefofEa 3 oY, or faefia e & v she
o & » ’

(a) ve 2w ford oy o dow, SRiEm afy &
= = aur 5 ofd =fts GNP &t &

(b) s Tu owi sw s ofy ==, 3@ R

@Rs GNP Wgfg ™ 3R 3 & smmm
faeRor grar 2 |

(@) 2w Pl s e S,
dige faen? sik Fe ofy sfss GNP 26

&

@) s @ ol e ooft =fs GNP, g
sEe 3R ve oy P des g @

16'

17'

18.

frafifen & ¥ @ oo, kT TWOR T4 af

2008 - 09 ¥, ¥mrFT Y | Fafa &ue &, @

fodre v & s & ¥ ywlda ge ar wnfa B

B AT T PO ATD B FEGal & T b

e Seare-4e @& um 7@ 2 2

(a) fo¥m iy o o 8 A § wale we
BT TR

(b) FRfE & 30 & o s $ ow sPe e
Tl W & g7 TUH ¥ 0 Io wlE
|hifa &1 e :

(@ Y st wim AW @Rt | e
I # e Y ¥ 4 e & ol e

d) for smea o R ' 36 7w o 3fm
wftraRer |, Frafa afe sefr sgmn

gl AR TUT U & Biud GaSH H GHGR A
o, @ w A g ?

(a) Pfaer-aEa Hma qusie

(b) wrfer-vorae dhva T

(c) T P YTBD

(d) TR & o gaes

R fdm & sR # FefeRes s W RER

Fifse

1. fiwg & 90 siwm ¥ 3R =mR a=-27
(Fpiel STqEHeTs ART) W AR T &t
YT o & |

2. P ve Bl dae Y R e 95
i &1 afror fer & )

3. fofa sefemem aur fe & wwar
v waffers g & |

IR fir M e F A B W s ad &
(a) d&ad 1 |

(b) wam 1 3R 2
(¢) thas 23R 3
(d 1,23Rk3




19. Match List I with List IT and select the correct |21.
answer using the code given below the lis{s
(where E_ = elasticity of substitution) :

List I List 11
A. Kinked isoquant 1 E;=c
B. Downward sloping 2. E;=0
straight line
isoquant
C. Cobb-Douglas type 3. 0<E <o
isequant
D. Downward sloping 4 E =1 22.
isoquant
Code :
A B C D
(a) 3 1 4 2
(by 2 4 1 3
3 4 1 2 23.
(d) 2 1 4 3

20. Which one of the following is not an objective
of food management in India ?

(a) Procurement of foodgrains from farmers
at remunerative prices

(b) Distribution of foodgrains to the

: consumers, particularly the vulnerable
sections of the society, at affordable
prices

(¢) Export of foodgrains to earn foreign
exchange

(d) Maintenance of food buffers for food
security and price stability

N-DTQ-K-GEQ (8 - A)

If the production function for good x is given

as Q@ = 2K + JL ; where Q is total output, K
refers to quantity of capital and L refers to
quantity of labour; the marginal product of
labour is given by

1
(a) m
(b) 2JL
1
(c) E
(dy 2

In India, the share of agriculture in GDP has
declined at a very fast rate in the recent
years. This is due to '

{a) lack of diversification of rural economy.

(b} slow growth in the prices of agricultural
commodities.

{¢) saturation of employment opportunities
in the agriculture sector.

{(d) very slow growth rate of agriculture and
a fast rate of growth of other sectors.

Consider the following demand curve and the
points marked on it :

dd curve

Price

ag

ay

Quantity demanded

_Arrange the four points shown in the above

graph according to their increasing value of
point elasticity of demand (in absclute sense)
using the code given below :

(a) aj, ay, dg, 8,
(b) a, ag, a,, a,

() ay ay, ag, 8y

(d) 31»-34: g, dq
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22,
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24, Match List I with List 1T and select the correct
answer using the code given below the lists :
ListI List IT
A. Rybczynski 1. The effect of tariff
Theorem on factor prices
B. Metzler Effect 2. The effect of factor
growth on
production and
trade
C. Stolper — 3. The effect of
.Samuelson tariffs on
Theorem domestic prices
D. Immiserising 4. The effect of
Growth growth on
terms of trade
Code :
A B C D
(a) 2 3 1 4
{(b) 4 1 3 2
(e} 2 1 3 4
(d) 4 3 1 2
25. Net National Product at Market price is
' higher than Net National Product at Factor
cost if
fa) Government subsidies > Indirect taxes
{(b) Government subsidies < Indirect taxes
{¢) Government subsidies = Indirect taxes
(d) Government subsidies = Indirect taxes
N-DTQ-K-GEQ

26,

27.

28.

(10 - A}

The cost of bank credit is determined in India
by a system of benchmark prime lending rate
which is charged by a bank to the most
creditworthy customers, and all bank Jloans
are given at a rate equal to or higher than the
benchmark prime lending rate. Of the
following, what determines this rate of
interest ?

(a) It is fixed by the Reserve Bank of India.

(b) It is determined by the Ministry of
Finance.

(¢) It is determined by the bank concerned.

(d) It is a competitive rate determined by
market forces of supply and demand for
eredit.

Consumption goods

> X

Capital goods

In the diagram given above, the production
possibility curve shows that

-(a) a nation which produces at point A

rather than at point B could expect a
more rapid rate of growth,

(b) a nation which produces at point B
rather than at point A could expect a
more rapid rate of growth.

(e} there is a negative relationship between
rate of growth and output.

(d) more growth is possible only when there
iz outward shift of the curve.

For a positively skewed distribution, which
one of the following is true ?

(a) Mean < Mode < Median
(b} Mean < Median < Mode
{c} Mean > Mode > Median
(d) Mean > Median > Mode

-
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29. Which of the following statements is/are
correct ?

1. FDI in India under the automatic route
does not require prior approval either
by the Government of India or the
Reserve Bank of India.

2. Investors are only required to notify the-
concerned regional office of RBI before
receipt of inward remittances and file
required documents with that office
before the issue of shares to foreign
investors.

Select the correct answer using the code

given below : '

{a) 1 only

(b 2 only

(¢ Both1and 2

(d) Neither 1 nor 2

30. Which of the following statements is/are
correct ?

When with a fall in price of a commodity

total expenditure

1. decreases, the demand for the
commodity is elastic.

2.  increases, demand for the commodity is
inelastic,

3. remains constant, demand for the
commodity is unitary elastic.

Select the correct answer using the code

given below :

(a) 1 only

(b} 1 and 3 only

(c) 3 only

(d) 1,2 and 3

N-DTQ-K-GEQ

31.

32,

33.

{12 - A

Does  Ricardian theory  discuss the
determination of international price ratios ?

(a} No, it only talks about specialization in
production and trade theory stops there

(b) Yes, the pre-trade prices will prevail

(¢) Yes, the importers and exporters will
decide it through bilateral talks

() No, it was left for J.S. Mill to bring in’
law of reciprocal demand to settle prices

Balance statement of XYZ Bank is given
below : .

Assets Rs. | Liabilities Rs.
Reserves 10,000 Deposits 1,30,000
Loans 10,000 |
Securities 1,10,000

Assuming -a cash reserve ratioc of 5%, how
much excess reserve would this bank have
after a cheque of Rs. 2,000 was drawn and
cleared against it ?

(a) Rs. 8,000
{b) Rs. 2,000
(¢c) Rs. 1,600
(d Rs. 1,500

Consider the following statements :

1. Longer the time producers get to make
adjustment in the level of output in
response to the changes in price, the

. greater the elasticity of supply.

2. Sharper the change in marginal cost,
lesser elastic will be the supply of
output.

3. If infrastructure facilities are available
for expanding output, the elasticity of
supply in response to the rise in price
will be relatively large.

Which of the statements given above is/are
correct ?

(a) 1 only

(b) 2 and 3 only
{¢) 1 and 3 only
(d) 1,2and 3
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34.

35,

36.

The recent global financial turmoil has
adverse impact on the Indian financial
markets, particularly the equity market and
the foreign exchange segment. However, the
banking sector has not been significantly
impacted by these developments. Which one
among the following is the main reason
behind this ? '

(a) Comfortable capital adequacy ratio,
asset quality, profitability indicators
and lower non-performing assets

(b) Fiscal stimulation package announced
by the Central Government  for some
select industries

{c) Strong foreign exchange reserves of the
Reserve Bank of India

(d} More credit by the banks to the housing
and real estate sector

Regional disparity in per capita income in
India has increased in the post reform period
due to many factors, Which among the
following factors has neot contributed to the
growth in such disparity ?

(a) Decline in the share

investment

of public

(b} Change in policy regime regulating
investment locations

{c) Poor governance and poor infrastructure

(d) Allocation of Central Government funds

through the award of Finance
Commission
A  consumer purchases 80 units of a

commodity when its price is Re. 1 per unit
and purchases 48 units when its price rises to
Rs. 2 per unit. What is the price elasticity of
demand for the commodity calculated by Arc
elasticity formula ?

(a) 075
(b) 1-50
{0 200
(d) 1-75
N-DTQ-K-GEQ

37.

38.

39.

40.

(14 - A )

Consider the following statements about
deficient demand :

1. Deficient demand exists when aggregate
demand for goods and services falls
short of aggregate supply of output
which can be produced by fully
employing the given resources of the
economy.

2. Deficient demand lowers both output
and employment and gives rise to
unemployment of labour. '

Which of the statements given above isfare
correct ?

(a) 1 only

(b) 2 only

(¢) Both1land?2
(d) Neither 1 nor 2

The growth process that is sustainable and
yields broad-based benefits and ensures
equality of opportunity for all is termed as

(a) Faster growth

(b) Inclusive growth

(c) Balanced growth

(d) Sustained growth

The notion that ‘trade between nations can be
profitable even if one of the two nations can

produce both the commodities more efficiently
than the other nation’ is the gist of

(a) Absolute cost advantage theory

(b} Comparative cost advantage theory

() Opportunity cost theory

(d) Factor-endowment theory

Given a curvilinear demand curve being
tangent to a straight line demand curve, the

point elasticity of demand at the point of
tangency

(a) is the same.
(b} is different.
(¢} can be the same or different.

(d) cannot be inferred without additional
information.
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41. " A consumer spends all his income,

‘m = Rs. 1,000, on two goods, x and y. The price
of x is Rs. 5 and the price of y is Rs. 20.
His demand function for good x is given by
2m /5p_. If the price of x falls to Rs. 4, his
demand for x goes up to

(a) 60 units

(b) 80 units

{¢) 100 units

(d) 120 units

42, Which one of the following is a transfer

payment ? :

(a) Net factor income earned from abroad

(b) Interest on public debt paid by the
Government _

()  Bonus to employees by the government or
enterprises

(d) Employers' contribution to contributory
provident fund of employees

43. When Reserve Bank of India purchases a
Rs. 1,00,000 bond from an investment dealer
and that dealer deposits the proceeds in a
demand deposit in Bank A, then Bank A’s
{(a) excess reserves rise by Rs. 1,00,000.

(b) total reserves rise by Rs. 1,00,000,
(e) lending capacity increases by
Rs. 1,00,000.
(d} bond holding increases by Rs. 1,00,000.

44. Credit wiil contract when
(a) bank rate’is lowered.

(b) bank rate is raised.

(c) reserve requirement ratio is lowered.

(d) open market operations policy of buying
government bond is adopted.

45. Arrange the following markets according to
increasing degree of barrier to entry into
them : '

1.  Monopoly
2. Perfect competition
3. Monopolistic competition
4.  Oligopoly
Select the correct answer using the code given
below :
(a) 1,2, 3,4
by 2,4,3,1
(&) 2,3 4,1
(d 3,2,4,1
N-DTQ-K-GEQ

46.

47,

48,

(16 - A)

(b)

The trickle-down theory

{a) states that hydroelectric generating
stations are the most efficient sources of
power for developing nations.

was suggested by Keynes when he noted
that an increase in investment trickles
down to the rest of the economy and
brings about an increase in GNP.

(c) states that an increase in per capita
income will eventuaily increase the
well-being of all segments of society as it
trickles down to these groups.

is best understood by analyzing the
economies of the third world countries.

(d)

Which one of the following is time reversal
test ?

_ 2Pgq,

(a) Py x Qqy SPq
oo

(b) Py, x Po=1
{c) 1?’01 % P12 X P20 =1

(@ Py, x Po#1

0
D
g r a
B
oW
P 5 $
0 m q D’ >
Quantity demanded

Consider the figure given above. Initiaily all
consumers were charged for the product at
price ‘p’. What will be the loss in the consumer
surplus, if the discriminating monopolist
increases the price to point r for the rich
consumers and continues to charge the others
at the old price ?

(a) Area opbm
{b) Area oram
(c) Area rpba
{(d) Area abc
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49. *Consider the following statements :

1. While under perfect competition price
equals marginal cost at the equilibrium
output, under monopoly equilibrium
price is greater than marginal cost.

2, While the perfectly competitive firm, in

the long run, can make supernormal |

profits, 2 monopolist is able to make
only normal profits.

3. Under monopoly, price is higher and
output smaller than under
competition, assuming cost conditions in
the two cases to be the same.

Which of the statements given above is/are
correct 7 '

' (a) 1 and 2 only

(b) 3 only
(¢) 1and 3 only
(dd 1,2and 3

60.  Which of the following are the assumptions of

Heckscher-Ohlin theorem ?

1.  Both the product and factor market in
both the countries are characterized by
perfect competition.

2. Factors of production are perfectly
mobile within the country but immobile
between countries.

3. Factors of production are of identical
quality in both the countries.

4.  Factor supplies in each country are
flexible.

Select the correct answer using the code given

below :

(a) 1 and 3 only

(b) 2 and 3 only

() 1,2and 3

(d} 1,2and 4

N-DTQ-K-GEQ

perfect |

51.

52.

53.

(18 - A)

Which of the following statements regarding
incidence of tax is/are correct ?

1. Ifthe demand for a commodity is inelastic,
its price can be raised by increasing a tax.

2. If the demand for a commodity is elastic,
burden of sales tax may be shifted partly
to the consumer.

3. If the supply of a commodity is perfectly
elastic, the entire burden of the tax will be
on the seller.

Select the correct answer using the code given
below :

(a) 1 only

(b) 1 and 2 only
(¢) 2 only

(d) 1,2and3

in national income accounting, which one of
the following is the difference between gross
aggregates and net aggregates ?

(a) The value of net indirect taxes

(b) The value of consumptioﬁ of fixed
capital

(c)  The value of intermediate consumption

(d) The wvalue of final consumption
expenditure -

The Prisoner's dilemma

1. is a game theory concepf showing the
disadvantages of not being able to reach
binding agreements.

2.  has significant implications on the
behaviour of the oligopolists.

3. explains how rivals behaving selfishly act
contrary to their mutual or common
interests.

4. is a doctrine developed by H. Doémar’
which explains the incentive to cheat by a
member of a cartel.

Which of the slatements given above are
correct ?

{(a) 1,2and 8
(b) 1 and 2 only
(c) 2 and 3 only
(d) 1,3 and 4
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Which one of the following factors will lead to
a shift in the demand curve to the right ?

{a) Decrease in the price of the product
{b) Increase in the income of the consumers

{c} Decrease
) material

in the price of the raw

(d} Dectrease in the price of the substitute

55. Which one amongst the following proposals
would not be supported by the supply-side
economists ?

(a) A decrease in the personal income tax
rate

(b) An increase in the welfare benefits

{c) A decrease in the capital gains tax rate

(d) An increase in foreign aid
56. Rakhi is faced with the problem of selecting
items for consumer price index. The index
number is expected to measure the general
changes in the price level of a group of
commodities. Which of the quality/qualities
listed below should be taken care of by her ?
1. The items should be representative of
the tastes, habits, customs and
necessities of the people to whom they
relate.

2. The items should be adequate in

' number and importance.

3.  The items should be moderately priced.

Select the correct answer using the code given

below :

(@ 1,2and3

(b) 1 and 2 only

{¢) 1 only

(d) 2 and 3 only

87. The profit maximizing monopolist is in
equilibrium where
(a) Elasticity of Demand =1
(b) Elasticity of Demand > 1
(¢) Elasticity of Demand < 1
(d) Elasticity of Demand = =

N-DTQ-K-GEQ

58.

59.

60,

{ 20 - A}

Which one of the following is not correct
regarding the Eleventh Five Year Plan
(2007 - 12) ?

(a) Targeted GDP growth rate is 9% p.a.
(b) Incremental capital eutput ratio is 4-1.

(c) Share of the States in total public sector
outlay is more than that of the Centre.

(d) Aims at rapid growth that reduces

poverty and creates employment
opportunities.

The gains from international trade depend on

the

1.  differences in cost ratios in the two
trading countries.

2. terms of trade.

3.  size of the country.

Select the correct answer using the code given
below :

{a) 2 and 3 only
(b) 1 and 2 only
{c) 1 and 3 only

(d) 1,2and 3
Consider the information given below :
Price Demand Supply
(Rs.) | (tonnes/annum) | (tonnes/annum)
1 1000 400
2 200 500
3 800 600
4 700 700
5 600 800
(5] 500 900
7 400 1000
8 300 1100

Suppose the government gives the firms a
subsidy of Rs. 2 per unit of the good, what will
be the new equilibrium price of the good ?

(a) Rs. 5

(b) Rs 4
{(c) Rs.3
(d» Rs. 2
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61. Does the index number reflect only
approximate changes in the relative level of a
phenomenon ? Why ?

(a) Yes, because there is no unique
formula,

(b) Yes, since index numbers are computed
from sample data, all errors inherent in
any sampling procedure creep into its
construction,

() Yes, because weights depend on
subjective selection,

(d} No, if the index number satisfies the
tests for adequacy, it reflects accurate
changes.

62. Poverty gap is the
{a} sum of the difference between the

poverty line and actual income levels of
all people living below that line.

(b} sum of the difference between the
poverty line and actual income levels of
all people living above that line.

() sum of the difference between per capita
income and actual income.

(d} difference between number of persons
above poverty line and number of
persons below poverty line,

63. Which of the following is/are the possible
effects of deficit financing ?

1. Increase in money supply with the
public

2. The rise in the level of incomes

3.  The fall in the general price level

Select the correct answer using the code

given below :

(a) 1 only

(b) 1 and 2 only

(¢) 2 only

(d) 1,2 and3

N-DTQ-K-GEQ (22

64.

65,

66.

- A%

The inverse demand curves for a profit
maximizing discriminating monepolist who
sells his product in two sub-markets are given
as p; = 200 — q; and p, = 300 - - The total
cost function is clg, + qy) = (q, + q2)2. What

‘will be the levels of output sold in two

sub-markets ?

(a) gy =33-33 and qy = 66-67
(b) q = 2467 and q, = 1633
(¢} q,=1667 and q, = 66:67
(d) q, =33-33 and q, = 50-67
Given,

Initial Level of
Equilibrium national
income

Total Autonomous
Investment (1)
Consumption function (C)
(where, Y = National
Income)

= Rs. 2,000 crores

= Rs. 50 crores

=20+08Y

What will be the new level of equilibrium
national income, if investment is increased by
Rs. 40 crores ?

{a) Rs. 2,040 crores

(b) Rs. 2,090 crores
{¢) Rs. 2,070 crores
{d) Rs. 2,200 crores

Which one of the following statements refers
to “disinflation” ?

(a) A simultaneous existence of high rate of
inflation and high unemployment in a
country,

(b) A process of reversing inflation but
without creating unemployment and

reducing output.

(c) A policy of moderating rising prices and
also to pull the system out of the depth

of depression.

(d) A situation of general depression and
widespread unemployment caused by

deficiency of effective demand.
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67.

68. Given below are information regarding the
weekly take-home pay of an employee and |
consumer price index for four years :

Year 2001 | 2002 | 2003 | 2004
Weekly 1, 09-50{116-40135-40[138-10
take-home pay
(Rs.)
Consumer price [112-80[127-40]143-50/149-80
index
In which year did the employee have the
highest buying power ?
(a) 2001
(b} 2002
(c) 2003 '
(d) 2004

69. The economic rent earned by any factor will
be highest if its elasticity of supply is
(a) =zero.

{b) between zero and one.
(¢) equal to one.
(d) infinite.

N-DTQ-K-GEQ

Capital deepening ceases
(a) as a result of population growth.

(b} when there is no additional increase in
the population.

{(c) when the rate of return from capital is
equal to the real rate of interest.

(d}) when the real rate of interest falls,
ceteris paribus.

70.

71.

72,

{24 - A )

A country’s offer curve will be straight line
when its price elasticity of supply for export is

(a) infinitely large.
(b) unitary.
(¢) zero.

(d) negative.

Consider the following statements :

1. India spends more than 1 per cent of its
GDP on Research and Development
(R&D).

2. India's spending on R&D in relation to
GDP has increased in the past few
years. .

3. In comparison to China, India’s
spending on R&D in relation to GDP is
low.

~ Which of the statements given above is/are

correct ? :

(a) 1,2 and 3
(b) 2 and 3 only

() 1and 2 only

. {d} 3 only

A person is earning Rs. 2,000 per month in
his present job and can earn a maximum of
Rs. 1,800 per month in the next job. What are
his economic rent and transfer earnings
respectively ?

(a} Rs. 3,800 and Rs. 1,800
(b) REs. 200 and Rs. 2,000
(¢} Rs. 200 and Rs. 1,800

(d) Rs. 1,800 and Rs. 3,800
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According to price-specie-flow mechanism,
which one of the following sequences of events
is supposed to bring about adjustment in a
deficit nation ?

(a) Increase in the money supply, rising
internal prices, falling exports and rising

imports

(b) Reduction in the money supply, falling
internal prices, rising exports and falling

imports

() Reduction in the money supply, rising
internal prices, rising exports and falling

imports

(d) Reduction in the money supply, falling

internal prices, falling exports and rising
imports

What is meant by the term “neutrality of
money” ? '

(a) Managément of money and credit  to
control inflation

" Promotion of and

exchange stability

price  stability

() Doing away with the disturbing effects
of changes in the quantity of money on
important economic variables like
income, cutput and employment

(d) Acceleration of growth rate in the

economy

An increase in national income because of an
increase in prices only is called an increase in

(a)
(b.)

national income in real terms.
national income at constant prices.
(¢) nominal national income.

(d)

national income at base year prices,

{ 26

76.

7.

- A)

Match List I with List IT and select the correct
answer using the code given below the lists :

List I List IT
{Contribution) {Economist)
A. Profits as dynamic 1. Joseph
surplus Schumpeter
B. Profits as a reward 2. M. Kalecki
to introduce
innovations
C. Profits as a reward 3. E.H. Knight
for uncertainty bearing
D. Profits arise due to 4. J.B. Clark

monopoely power

enjoyed by the

producers
" Code :

A B C D
(a) 2 1 3 4
(b) 4 1 3 2
() 2 3 1 4
(dy 4 3 1 2

Which one of the following pairs is not

- correctly matched with regard to balance of

payments accounts ?

(2) Import of goods — Debit in the current
and services account

(b) Receipts of — Credit in the
transfer current. account

. payments

(¢} Direct ~ Credit in the
investment capital account
receipt

{(d) Portfolio — Dehit in the current
investment account
payments
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Which of the following is/are implied by the
doctrine of unbalanced growth ?

1. Unequal development of various sectors
often generates conditions for rapid

development.

2. The investment should be dispersed
over a wide range of industries.

3. The goal of complete balance in the
economy is not realized.

Select the correct answer using the code
given below :

(a) 1 only
(b} 2 and 3 only

{¢) 1 and 3 only

(d 1,2and 3
79. Which of the following statements is/are
correct ?
1. Laspeyres’ index generally shows an
upward bias.
2.  Paasche’s index generally shows an
upward bias.
3. Laspeyres’ index generally shows a
downward bias.
4. Paasche’s index generally shows a
downward bias.
Select the correct answer using the code
given below :
(a) land4
(b) 1 only
(¢ 2and3
(d) 3 and4
N-DTQ-K-GEQ

80.

81.

{ 28 - A)

Quantity of mango

LY
—

Quantity of banana

In the above figure showing budget lines, a
consumer was initially at point A. There was
a price change and she moves to point B. It
follows that

(a) bananas are a nermal good.
(b) bananas are an inferior good.
(¢) mangoes are an inferior good.

(d) the consumer is confused.

Price discrimination may be possible when

1. the nature of the commodity or service
is such that there is no possibility of
transference from one market to the
other.

2. the markets are separated by large
distance or tariff barriers.

3. several groups of buyers require the
same service from clearly differentiated
commodities,

4.  buyers are well informed and rational.

Which of the statements given above are
correct ?

(a) 1 and 2 only

(b) 1,3 and 4
(¢} 2 and 3 only
(d) 1,2and3
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13k 4
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. Suppose, spot rate of dollar today in India is

Rs. 42 and 3-month forward rate is Rs. 48.
How can an Indian importer who has to pay
$20,000 in 3 months’ time, hedge his foreign
exchange risk ? '

{a)

There is no risk, rupee is quite stable.
{b) The importer should enter into a forward
contract to sell dollars.

{¢} The importer should buy his required
amount of dollars today only and hold it
for three months.

(d) The importer should enter into a forward

contract to buy dollars.

Inflation helps in redlstnbutmn of income
through

(a) proportional change in prices of
everything including prices of assets
and debt instruments.

(b) disproportional change in prices of
everything including prices of assets
and debt instruments.

(c) rising prices of everything including
prices of assets and debt instruments.

Gy

falling prices of everything including
prices of assets and debt instruments.

Lead Bank scheme is designed to

have more concentrated effort of a bank

(a)
in a particular district.
(b} control the activities of non-banking

financial institutions.

(c} help the weaker sections in a particular
district.

(d) regulate the use of credit.

85.

86.

87.

{ 30 - A}

The existence of a natural rate of
unemployment suggests that
(a) there is no inflation-unemployment

trade-offs in the long run.

(b)

nominal wage increases lag price in the
long run.

(c) nominal wage increases lead price in
the long run.

(d) the short run Phillips curve is steeper

than the long run Phillips curve.

Consider the following infermation :

Initial | Investment First | Second:
Investment cost eriod year year

P pay-ofl | pay-off
Rs. Rs. Rs.

A I3 pop] 2ears 2,500 | 3.500
Rs. Rs. Rs.

B [s000] 2vears |5 000 4,000

If the cost of capital (rate of interest) of hoth
the investments is 10% per year, which one of
the following is correct ?

(a) Investment A is preferable

(b) Investment B is preferable

(c) Both the investments are equally
preferable

(d) Cannot determine on the basis of given

information

Given below is the GNP per capita of India for
the years 2008 and 2009 :

Year inUS$ |in PPP US $
2008 620 3,100
2009 720 3 460

From the information given above we may
conclude that during that period.the cost of
living in India in comparisen {o USA has

(a) increased.

(b} decreased.

(¢} remained the same.

(d) cannot be concluded on the _basis of

given information.
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Suppose, nominal GNP in the year 1990 was
Rs. 100 billion and in the year 2000 Rs. 360
billion. During this period the GNP deflator
increased by 80%. Between the year 1990 and
the year 2000 the average annual rate of
growth of real GNP was approximately

fa) 7%
by 10%
(© 13%

(d) cannot be calculated on the
given information

basis of

On the basis of the following information
about firms A and B, identify with the help of
the code given bhelow, the value added by
firms A and B respectively, considering that
the economy has only these two firms :

(Rs. in lakhs)
Exports by firm A 40
Imports by firm A 100
Sales to households by firm A 180
Sales to firm B by firm A 80
Sales to firm A by firm B 60
Sales to households by firm B 120

Code :

(a) Rs. 140 lakh and Rs. 100 lakh
(b) Rs. 200 lakh and Rs. 180 lakh
(¢)” Rs. 100 lakh and Rs. 140 lakh
(d}) Rs. 300 lakh and Rs. 120 lakh

- Is there any difference between forward and

futures markets in foreign exchange ?

(a) No, both deal with future delivery of
foreign exchange.

(b} No, both markets can be availed of by
telephones “over the counter” of a
commercial bank,

(c) Yes, only a limited number of currencies
are traded in the futures market and
that also in standardized amounts.

(d) No,if one agrees on the date of delivery
and brokerage, it is immaterial which of
the markets one is talking of.

91,

92,

(32 - A)

Which of the following statements is/are
correct ?

1. A change in income in the 1S-LM model
resulting from a change in the price
level represents a movement along the
aggregate demand curve.

2. A change in income in the IS-LM model
for a fixed price level represents a shift
in the aggregate demand curve.

3. LM schedule is a
equilibrium income.

schedule of

4. IS schedule is a schédu]e of monetary
equilibrium.

Select the correct answer using the code
given below :

{a) 1land?2
(b} 2 only

(¢} 1land3
{d) 3and4

A surge in foreign capital inflows in India
would lead to the

(a) sale of foreign exchange by the central
bank in order to prevent depreciation of
rupee. :

(b) purchase of foreign exchange by the
central bank in order to prevent
depreciation of the rupee,

(¢) sale of foreign exchange by the central
bank to prevent the appreciation of the
rupee,

(d) purchase of foreign exchange by the
central bank in order to prevent
appreciation of the rupee.
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93. Structural transformation is that process in
which
(a) the contribution to national income by

the manufacturing sector increasingly

' becomes higher than that by the

agricultural sector.

(b) the contribution to national income hy
capital goods is more in comparison to
labour.

{e) the contribution to national income by
foreign investment is more in
comparison to domestic investment.

(d) production is mainly meant for personal
consumption and not for investment.

94. Which one among the following statements is
correct ?

{a) Sum total of the first order differences
from arithmetic mean is always zero.

{(b) In a relatively skewed distribution sum
total of the first order differences from
the median is zero.

(¢) Sum total of the first order differences
from median is always equal to zero.

(d) Sum total of the first order differences
from mode is always equal to zero.

95. Which of the following statements is/are
correct according to the law of variable
proportion ?

1. The marginal product curve cuts the
average product curve at its highest
point.

2.  Average product curve cuts the marginal
product curve at its highest point.

3. Marginal product- becomes zero at the
highest point of the total product curve.

4. Total product curve is concave
throughout frem the origin.

Select the correct answer using the code given

below :

(a) 1 only

(b) 1 and 3 only

(c) 3 and 4 only

(d) 1,2 and3

N-DTQ-K-GEQ ( 34

96,

97.

98,

99.

- A}

Which one among the following measures is
most appropriate to compare the dispersion in
two variables measured in different units of
measurement 7

(a) Range

(b) Quartile deviation

(c) Variance

(d) Ceefficient of variation

What is the Safeguard Clause in GATT
Articles ?

(a) It protects the interest of capitalist
countries.

(b) It safeguards the interest of poorer
nations.

(¢} It refers to measures that can be
applied in the case of sericus injury to a
trading partner.

(d) It is related to tariff measures and

revenues.

Which one of the following is correct in case of
a production function of the form Q = AKOLP ?
(Symbols have usual meanings)

(a) The degree - of homogeneity is
necessarily one.

(b) Marginal product of an input is equal to
its average product.

(c) [Elasticity of substitution is equal to
o+ f

{(d) Capital elasticity of output is equal to .

Coefficient of correlation between two

variables is 0-9. If one of the variables is
regressed on the other, which one of the °
following is correct ?

(a) 90 per cent of the variation in the
dependent variable is explained by the
variation in the explanatory variable.
0:90 per cent of the variation in the
dependent variable is explained by the
variation in the explanatory variable.

81 per cent of the variation in the
dependent variable is explained by the
variation in the explanatory variable.
0-81 per cent of the variation in the
dependent variable is explained by the
variation in the explanatory variable.

(b}

(c)

(d)
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a) . U I ¥ ffE fae B dneE, i
&P & AP B g A aon F agar & |

(b) g 3 F Yair awget o AW A e o
dme 3t B 2

(© g gma ¥ el e @, oy, Fey &
o 3 st D g & |

(d) I & T R @ 5 a8 sy e
sfmwd afefRus e

Frafeifea oudl 4 A S e T Wl & 2

(a) |HIER ATET ¥ Yo Hifc 3R & FoT ANiwer
T I A 2

‘(b) T TeRT v de F mitae ¥ wm i

3R B A ANBA T B |
(0 Witz & wom SR 3R & po Ao
THN T & SRTeR Bar & |

(d) g0 A WM B 3ial o1 Her dnse ghen
T & KRR T g |

IRedt srguma o & 3FER Frafifad soer § @

B TR T w2

1. AW IEOr @56, mﬁmaasaﬂsﬂﬁs
Foaan fag | dear € |

2. a3 aw, ¥MiG sOR 9% @ 9%
T fag o wiear @ |

3. O IWE I5 & Iegad fag W BT 3aE
b

4. A IR B, Yoidg A FH sEad @@
21

AR faw e T @ R AR R SR g

(a) &ad 1

(b) o 133

(c) waw 33R4

@ 1,233

96I

97.

98,

99.

e i ¥ A alm s, a3 B &5
9T @ yUT soRdl gR1 Wiud fe mn o,
oRewor & ot T & e walftrs Juge & 2
(a) WY '

(b) T® faaem

(c)

(d) faazor N

GATT F=igHt o Yeliry @vs oar & 2
(a) g% Qe ¢ui & fodli &1 wiRemor oxar & |

b T epa T I & R o1 e

AT E |

() 7z o e e @ R Ry aga
@ o ¥ anp v I oW A sudt @
e s ¢

(d) $HST FF WYH 30T 3R qerE F R

frfafas & @ Saar oo 98 &, oft I v
Q= AKLP &7 &1 & ? (vt & wrmr s )
(a) U &I AET IEYGE T F Uh & |

(b) TS AT B WA IR 9B T TR B
IR A ¢ |

(c) VMR T o+ PP aER & |
(d) ITET & G o o & RER 2 |

A W & v e H 0-9 2 | afk 3wt A
VA TE B TR S IR ARG 6w A &,
FrefeiRea & ) B ow, T8d ?

() Y0¥ TR T 90 i e & saren sRo
W & o ¥ 2t &)

(b) wax W ¥ 0-90 vfwa ez & a@ran
RO R F Ao ¥ ad & |

(¢) Wax T U 81-wfava fawrwr & &= sRoT
WE oI a8

(d) WRax X § 0-81 wiavE famzor & ==
PR R & Feomr A £




100.

101.

N-DTQ-K-GEGQ

Which among the following are the cost-push [102.
causes of inflation ?
1.  Deficit ﬁnancixig '
2 Increase in administered prices
3 Increase in interest rates
4. Increase in population
5 increase in o1l prices
6 Mounting public expenditure 103.
Select the correct answer using the code
given below :
(a) 2,3,5and 6
(b) 2,3 and 5 only
(¢) 3 and 5 only
(d}) 1,2,4and 6
Given (in Rs. million) :
Direci:-personal taxes 300
Depreciation 230
Indirect taxes 200 104.
Government transfer' 25
payments
Gross investment 450
Net exports (=) 70
Consumption expenditure 2,000
Government expenditure 550
Which one of the following is the value of
national income (in Rs. million) ? 105.
(a) 2,930
{(b) 2,500
{c) 2,525
(d) 2,700
{ 36 - A)

Which one of the following statements is
correct in case of constant returns to scale ?

(a} Long run average cost (LAC) curve is
the locus of minimum points of short

run average cost (SAC) curves.

(b} LAC is U-shaped.

(c) LAC is greater than the long run
marginal cost.

(d) LAC coincides with the horizontal axis.

Which one of the following statements

correctly describes the relationship between
multiplier and accelerator 7

(a) Both show the effect of change in
income on investment.

(b) Both show the effect of change in
investment on income.

(¢} Multiplier shows the effect of change in
income on investment and accelerator
shows the effect of change in
investment on income.

(d) . Multiplier shows the effect of change in

investment on income and accelerator
shows the effect of change in income on
investment.

Given the total cost as C, the price of labour
(L) as Pj, price of capital (K) as Py, from
which one of the following functions, can an
iso-cast curve be drawn ?

(8) K=C/Py +(C/P)L

(b) C=C/P, + (C/PY)

© C=K.Pg+L.P,

(d) L=C/Pr-(C/PPK

Which one of the following 1is the

inter-quartile range for the given data ?
45, 48, 55, 58, 65, 66, 72, 76, 78, 79, Bl

{(a) 25
(b 80
(¢) 35
(d)y 23




© 100. ﬁrﬂ%ﬁaﬁﬁéﬂq@tﬁﬁ%%aﬂmm%?

1. umwer feieE
2. Fifsa e & gfg
3. @ R ¥ afx
4, FEEm ¥ gig
5. mdmidoe
6. wHTf® T ¥ gfa
%ﬁuwwaﬁmaﬂﬂﬁrmgﬁu_:‘
(a) 2,8,53R6
(b Fa@ 2, 33R5
(c) 5w 3 3R 5
d 1,2,43KR6

101, f&ar wan @ (Riferew Twal )

WE ARHTT B 300
TEIRT 230
AR B 200
TR FHROT Y= 25
9o faw 450
Fraa frafa (-).70
39T = 2,000
WHR T : 550
Frefefas 4 ¥ S ve, I 3 & gy @
(faferem sw=it ) 2
(a) 2,930
(b)Y 2,500
(c) 2,525

T (d) 2,700
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102. R Y9m & afawa & ded § FefoRaa st 9
B vE e ER @ P

(a) AfFdm sihed Tma (LAC) 9%, s
IR T (SAC) 3 & =gaem fagalt &
freom &)

LAC U-3nghr &1 & |
LAC Sdaena IWa dana 3 st 2
LAC ¥OFR e &1 9oy & | |

{b)
{c)
(d)
103. Fraffea wwt § ¥ S vs, e 3R =G &
W‘MH'&?’}W?}WW%?
(2) AT, 3 & Radw &, e | Y @
T o e €

a4, Faw & aRads @1, 3 | e
e & feme &

TE Y & Raed o1, Ry ® w5 aw
g @ e € 3R v Pe & aRadw
W, 3T W TS a1 9@ @) @ 2 |

o6 e & oieds &, 30 | = aw
"y @ e @ sk mRe 3 & wRadw
F Ay W v T v @ Raar |

(b}

" (c)

(d)

afe g @rE @ C, 5™ (L) & ding & Py, o
(K) & omd & Py 71 man @, @t Frefefaa
Gerl % A 59 e ¥, IuE avE @ @ o
wHaT & ?

(a) K=C/P, +(C/P)L
(b) C= C/PI; + (C/Pg)

(c)
(d)

104.

L=C/PK—(C/PL)K

105. FafofEa & ¥ o9 v, v ™ aies @
. diaeagd® uRax & ?
45, 48, 55, 58, 65, 66, 72, 76, 78, 79, 81
25
80
35
23

(a)
(b}
(c}
)
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107,

108.

(a) price expectation over one’s lifetime.
(b) transitory income.
(c) permanent income.
(d) expected lifetime income.
109. Which one of the following is unemployment
rate ? :
(a) Percentage of. unemployed to total
population
(b) Percentage of unemployed to total
labour force '
(¢} Percentage of unemployed to total
workforce
(d) Percentage of unemployed to total
persons not in labour force
N-DTQ-K-GEQ

Ad valorem tax is based on
{a) income.

(b} real value of goods.
{¢) money value of goods.
{(d) volume of goods._

If a firm's average total cost is Rs. 30 at
5 units of output and Rs. 32 at 6 units of
output, which one among the following is the
marginal cost of producing the 6! unit ?

(a) Rs. 2

(b) Rs. 12 ’
(c) Rs. 32

(d) Rs. 42

The life cycle hypothesis of consumption
implies that consumption is related to

110.

111.

112,

{38 - A)

When price elasticity of demand of a good is
greater than one, then expenditure on the
good '

{a) rises with a price fall.

(b) declines with a price fall.

(¢} rises with a price rise.

(d) remains the same irrespective of price

rise or fall.

Transaction-precautionary demand for money
is

{a) positively related to both level of income
and rate of interest.

(b) negatively related to both level of
income and rate of interest.

(c) positively related to the level of income
and negatively related to the rate of
interest, )

(d) negatively related to the level of income

and positively related to the rate of
interest.

Assume that the demand curve for compact
discs (CD) slopés downwards and the supply
curve slopes upwards. If the price of CD
players decreases, then, ceteris paribus

(a) the equilibrium price of CD will fall.

(b) the equilibrium pric;a of CD will rise.

(e} the equilibrium price of CD will stay
the same.

(d) none of the above are correct.
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107.

108.

109.
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(d)

ummﬁmmmm%‘ ?

(a) IO W

IR & TEfAE I |
TR & e g W)
Tl & aRamr )

(b)
(c)
(d)
I 06 B B 5 FERAT B AR H T pal
ama 30 5. 3R 6 gHRdl & e @ 3 pa

AN 32 B, &, o1 Frafafaa 3 @ o v, e
THE B I B B WA o & ?

(a) 2%
(b) 12%.
() 32%.

42 %,

J9HT @Y e TH Wawea o fifeard o g, 5
T B FEY

fes & s DI § SHd Jearen ¥ E |
IR I YT |

g T ¥

e SET B Y Q|

(a)
(b)
(¢}

(d)

ﬁm%ﬁaaﬁ@raﬂqﬁw,ﬁaﬁﬁaz%?

o S H RSRY &1 A

oot w4 o ¥ ISR &1 wicrerd

o & 9 ¥ R &1 e
g{g@miaﬁu‘iﬁ.shmmﬁﬁﬁq@f%.m

110. 379 U a<g B W B SHG o U F A Bl

111,

112,

{39 - A}

- A{e)

2, 79 o R 5o v =

(a) DRI F T g |
g S S ay Frar &
BT T2 B W wEer & |

D Fg o U N RO, wEaaE @A d |

(b)

(d)
T & Se=-yafurg i

(a) 3T R § &R R, aFE & 9 CAHD

el 7T @ |

I WX g AIH &%, T P WY HONED
L T 7 |

(b}

T TR & 9 TS T @A § o
&M &R & T FOUNHS T @4 2 |

(c)

(d) 33 TR & 9 FHOTHD I3 & & ad1

R & W GAIHS FEH TG 2 |

a9 dfae & orle & (CD) & dfn a5 &t
o FEE § AR O a9 o T Sedneh @ |
afe CD =RR & Sma fird &, a a=g anf gdom
@ W, F1EAT ?

(a) CD &t HqeH dmd iR e

(b) CD @ ¥ge B qg e
{(¢) CD @ Uger oM Tger SRi & e

@ IS § A B W A 2




113. Which of the following statements with regard
to the National Rural Employment Guarantee

Act (NREGA), 2005 is/are correct ?

1. The legislation makes the Government
legally bound to provide employment to
those who seek it.

2. As a district-is notified under the Act,
the Sampoorna Grameen Rozgar Yojana
is automaticaily merged in the NREGA.

Select the correct answer using the code

given below :

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

114. Consider a consumer whose consumption
basket contains only two goods X and Y. His
budget is such that if he 'spends his entire
income on these two goods, he can purchase

4 units of X and 6 units of Y or 12 units of X

and 2 units of Y. If he spends all his income

on good X, how many units of X can he buy ?

(a) 7

(b) 15

{c) 16

(d) 18

115. India has witnessed a number of acute
problems immediately prior to
implementation of economic reforms in early

~ 1990’s. Among the following, which one was
severe and unmanageable ?

(a) Industrial backwardness

(b) Balénce-of-payme_nts crisis

(¢} Backwardness of agriculture

(d) Shortage of foodgrains

N-DTQ-K-GEQ { 40

116.

117.

- A

The inverse demand function for tea is given
by py = 18 -3qy, where p,; is the price in
rupees for a 500 gm packet of tea and qq is
the quantity demanded. The inverse supply
curve is given by p, = 6 + q.. Now, suppose
the government decides to give a subsidy of
Rs. 2 per packet to tea suppliers, what will be
the new equilibrium price (p) and quantity

demanded (g) by consumers after the
introduction of subsidy ?

(a) p=3, g=9

(b) p=75 q=35

¢ p=9, g=3

d p=95 q=235

Match List I with List II and select the correct
answer using the code’given below the lists ;

List I List I
{T'ype of budget deficit) {(Measurement
of deficit)
A. Revenuedeficit 1. Gap between total
expenditure and

total receipts

B. Fiscal deficit 2. Excess of revenue
expenditure  over
revenue receipts

C. Primary deficit 3. Fiscal deficit less

interest payments

D. Budgetary 4.
deficit

Difference between
revenue receipts
plus certain
non-debt capital
receipts and the
total  expenditure
including loans, net
of repayments

Code :

(a)
(b)
(c)
(d)

i A - . -
o o ow W
W W
[ R C I
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(d)

T AT AR MRUET HFRE (NREGA),
2005 ¥ wey ¥ Frafafaa st § ¥ o9 @R
T dR a8 ?

1. ug faum WeR ® 39 @ & fow aeph w8
A FEE B ? 5 98 I IR ToF aR
N IR TG=S & o

2. e, foen st & smia sRngfoa @
e TPl yrfer AR A & war &
NREGA ¥ faera 2 st & |

fe e 7 Fe & pE TR Fa IR g
(a) a1

(b) HaA 2

(© 132

d FA1siRI‘2

TF U TR R R i S 3ndm el
¥ adt & aRGE X TH Y € | IHS 9T 39 TWE
& 2, 5 oft ag sl wegef s g S awgei
RE WA, ARXP4gedi R Y
6 3amEdl ar X & 12 sHsdl 3R Y & 2 ol
e ¥ © | aft a8 o wR o aeg X ®
T Al 2, a1 a8 X o el soEdl whie
wHar & ?

(a) 7

(b)
(c)

1990 ¥ Td & W A e gERi &
HAagH & aEle UEA a6 URd 2 3We o
Tyl @ awer e & | FeatalRed § 3 o
U RS A 7 anEeg O 2

(a) 3 fegm=

(b) T HEN B T
(¢} T & s

(d) wmers @ S

116.

117.

mmqﬁﬁquﬁm%pd_w—sqd, '
T py, 500 T TR F UhT B Twdi F Pma @

T qq, RO 7 AT € ) wRem ofd @ R #
p, = 6 + gq. H§ TH wifE, WIR TI &
gfdsats. B 2 5. it $de & HTAR I W &

- Frofar &=t 2, O 3w RN o= & IR FE dqen

Ba (p) iR IweirEst grr wOY wE A () wn
g ?

(a) p=3, q=9
b)) p = 75, q=35
(0 p=9 q=3
(d) p=95 q=35

@ 1P W I ghE Db dk gt b

e fie T gT @& FAm aR RS FR g -
ol et I

(F57T 91 & TR} M

A USRI WET 1. @fmta"wan
& qg F[TA

B. SONRT HET 2. oG U B o

- 3T ¥ anfera

C. watts e 3. TN ue # ¥
TS il @ ver
Gogejirs|

D. 93¢ "RE! 4. o 39 AR iaog
R=r §&ft 3w &
4, e ol od Freer
g, & &9 3T

[ 3

A B C D

(a) 1 3 4 2

b 2 4 3 1

) 2 3 4 i

@ 1 4 3 2
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119,

To which one of the following categories of
farmers was the period for repayment of
overdues extended under the Agricultural
Debt Waiver and Debt Relief Scheme in the
Union Budget 2009 — 10 ?-

(a) Farmers having upto one hectare of
land

(b) Farmers having upto one and a half
hectares of land

() Farmers having upto two hectares of
land

{d) Farmers having more than two hectares
of land '

Assuming constant returns to scale, if all the
three factors X, Y and Z are paid according to
their marginal productivity, then the Euler's
theorem implies

(a) Q:MPX+MP),+MPz
(b) Q>MPxxX+MPny+MszZ
(<) Q<MPxxX+MPny+MszZ

{d) Q=MPX><X+MP},><Y+MPZ><Z

({42 - A )

120. During the year 2008 — 09, in India f:here has

been a dip in the growth rate of GDP from
9 per cent to 67 per cent. Among the
following sectors, which sector registered the
highest fall ? ' '

(a) Mining and quarrying
(b) Manufacturing
(¢) Construction

(d) Eleetricity, gas and water supply




118. ¥u-§3C 2009 - 10 ¥, Fr=fefaa aff & fbami § (120, af 2008 - 09 & kM w=a & GDP & Fafy =
¥ fre ve & fow oY o1 rftream qur w0 wga 9 it 9 fikax 6.7 wfame & o 1| Prefofea
Ao & siarta sy & T S ang-aa g W A 59 v daw ¥ waifte firee oot &

&1 R & foar mr o 2 T ?
» (a) UP YRW db s TG anel e (2) T &I gRR-G (amgfa e a3
* (b) 3 TRW a6 T & A fbwr ® .%ﬁnfw(ﬂqﬂa‘ﬁﬁm
@ 2 e e < R P @)
@ . A ¥R ¥ 3w i @ T Rw @ fagg, * e w of

119, FEAUfiS Siwer & 7 g, g dFi 3nEE X,
Y 91 Z &1 38 Aeia Ikl & 3FER Y
A &, R g @ @ ?
(2) Q=MP, + MP, + MP,
{b) Q>MPxxX+MPy><Y+MszZ

(e) Q<M’PxxX+MPny+MszZ

@ Q=MP, xX+MP,xY+MP,xZ
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g - & g quife @ 300

10.

————

e TR™ g F g3 AR, I 59 adenr yRaet & wgae sava ) g o e ew,
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39 WE0 gfsTat W 1y § Re 10 oo A w9
e fera & | e gfiae R ik gor T 6 |
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39 o 9o FogeR! B FR-UEE ¥R & GR a IET S T R P IoR-9AS FNES B 9
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e IR) & fe qvs
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Gy oft o Ioiear v ¥ aftie 3% <ar @, 1 3 e IUR A e, gaf Ke e SRt A @ vs
IR O B &, e o 39 oA & fore swmfeegaR & ¥ axe @ avs fan smom |

(i) afe TR ERT B8 v &w el fhan S 2, sraf IliRaR BRY 3R T far auar §, | 39 v
& for % zoz & R o |
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Note : English version of the instructions is printed on the front cover of this Booklet.




